SCIENCE 10 

10.3  Acceleration    Cont.

Solving for Initial and Final Velocity

a  = (V


(t

(V = Vf – Vi

a =  Vf – Vi

    t

To find Vf we now have to rearrange this equation.

1st  Cross-Multiply

a t  =  Vf – Vi

2nd solve for Vf


a t  + Vi  = Vf – Vi +Vi

a t  + Vi  =  Vf

OR    Vf = Vi + at


OR we can solve for Vi


a t  - Vf  = Vf – Vi  - Vf

at  -  Vf  = - Vi


(change signs)

- at + Vf  =  Vi

OR   Vi = Vf – at

EXAMPLES:

1. What will the final speed of a cat be that in chasing a mouse accelerated at 0.55 m/s2 from rest for a time of 5.0 s  ?

a =  0.55 m/s2 

t = 5.0 s

Vi = 0 m/s

Vf = ?

2. A Corvette accelerates at 3.0 m/s2 for 10 seconds to reach a final speed of 150 km/h. What is the initial speed of the Corvette? (state your answer in Km/h and m/s)

a = 3.0 m/s2 

t = 10 s

Vf = 150 km/h = 41.7 m/s

Vi = ?

